HUEY P. STOCKSTILL, LLC
P.O. BOX 758
PICAYUNE, MS 39466
LA. CONTRACTOR'S LICENSE NO. 62139

SOUTH LAFOURCHE LEVEE DISTRICT 17904 HWY. 3235 GALLIANO, LA 70354 BID FOR: Interim Improvements-Elevation of LA Hwy. 3235 At Levee Crossing in Larose, LA

TO BE OPENED: March 16, 2017 @ 10:00 A.M.

Received and Acknowledged: Addendum No. 1, 2 & 3

### LOUISIANA UNIFORM PUBLIC WORK BID FORM

TO:	South Lafourche Levee District 17904 Hwy 3235; P.O. Box 426	BID FOR: South Lafourche Levee D Interim Improvements - Elevat		
	Galliano, LA 70354	Hwy. 3235 at Levee Crossing		
Documents, addenda, c) appliances a of the refere Parkway, Cut	gned bidder hereby declares and represents that b) has not received, relied on, or based his bid on has personally inspected and is familiar with the pr nd facilities as required to perform, in a workmanlikenced project, all in strict accordance with the Biddonff, LA 70345 and dated: February 2017.	any verbal instructions contrary to the Bio oject site, and hereby proposes to provide a manner, all work and services for the con ling Documents prepared by: Picciola & As	Iding Documents or any all labor, materials, tools, struction and completion associates, Inc., 115 Picciola	
Bidders mus	st acknowledge all addenda. The Bidder acknowl	edges receipt of the following ADDEND	<b>A:</b> (Enter the number the	
	s assigned to each of the addenda that the Bidder is a			
not alternate	<b>SE BID</b> : For all work required by the Bidding Doos s) the sum of:			
ONIM.	HioN Eight Hundred Fifty Sis	Thousand Six Hundred	Eighty Eight	
Dolla	ThionEightHundredFiftySis	Dollars (\$ <u>8</u>	56,688.03	1
ALTERNA'	TES: For any and all work required by the Bios alternates in the unit price description.			
Alternate N	o. 1 for the sum of:			
	N/A			
	N/A	Dollars (\$	N/A)	
Alternate N	<b>o. 2</b> for the sum of:			
	N/A			
	N/A	Dollars (\$	N/A)	
Alternate N	<b>o. 3</b> for the sum of:			
	N/A			
	, N/A	Dollars (\$	N/A)	
NAME OF	BIDDER: HUEYP, Stock	43411, LLC		
ADDRESS (	OF BIDDER: <u>P.O. BOX 758</u>	00 1 20:41		
	Picagine,	M6.3944		
	A CONTRACTOR'S LICENSE NUMBER:	HUEU Stockshill	To.	
	AUTHORIZED SIGNATORY OF BIDDER: _ AUTHORIZED SIGNATORY OF BIDDER: _	Presidenti	7	
		- State		
	RE OF AUTHORIZED SIGNATORY OF BIDDE	ER*: Kun Yulul M	X 7	
DATE:	3/14/11	/ '		
			iometure authorization shall be	

<sup>\*</sup> If someone other than a corporate officer signs for the Bidder/Contractor, a copy of a corporate resolution or other signature authorization shall be required for submission of bid. Failure to include a copy of the appropriate signature authorization, if required, may result in the rejection of the bid unless bidder has complied with La. R.S. 38:2212(B)5. Bid Security in the form of a bid bond, certified check or cashier's check as prescribed by LA RS 38:2218.A is attached to and made a part of this bid.

# LOUISIANA UNIFORM PUBLIC WORK BID FORM **UNIT PRICE FORM**

BID FOR: South Lafourche Levee District

TO:		h Lafourche Leve			R: South Lafourche Levee District
		04 Hwy 3235; P.O	O. Box 429		nterim Improvements - Elevation of LA
	Galli	ano, LA 70354	· · · · · · · · · · · · · · · · · · ·		Hwy. 3235 at Levee Crossing in Larose, LA
				all work required by t	he Bidding Documents and described as unit prices.
Amour	nts shall b	be stated in figure	es and only in figures.		
DESCRIP	TION:	☑ Base Bid or □	Alt.# REMOVAL O	F TRAFFIC SIGNAL CON	NCRETE FOUNDATIONS
REF.	And a second second second	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
202-02-	00010	2	EACH	4,450.00	8,900.00
				•	
			ALL H DEMOVAL OF	ASPHALT PAVEMENT	
DESCRIP	Carlotte and American	☑ Base Bid or ☐ QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
HE STERRORES AND THE SECTION OF	NO. *	676	SQUARE YARD	Le- OD	4756012
202-02-	02020	676	SQUARE TARD	Q.UD	$\tau, \infty$ $v.vv$
DESCRIP	IJON:	Base Bid or □	Alt.# REMOVAL OI	F SIGN AND U-CHANNE	
FREF.	ŃO,	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
202-02-	38300	23	EACH	50.00	1,150.00
790 store (			ALL III TO THE TOTAL THE T	I AND EMPANIZMENT	
DESCRIP	V9812000000000000000000000000000000000000	☐ Base Bid or ☐ ☐	CONTRACTOR DESCRIPTION OF THE PROPERTY OF THE	N AND EMBANKMENT	UNIT PRICE EXTENSION (Quantity times Unit Price)
REF.	entra quantification no part	- QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	48.000.00
203-05-0	00100	1	LUMP SUM	(28,000.00	108,000.00
DESCRIP	IION:	⊠ Base Bid or □	Alt.# BORROW (VE	HICULAR MEASUREMI	
11.00	ŇO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
203-07-0	00300	19,300	CUBIC YARD	13.80	266,340.00
					•
	NUMBER AND BUT		ar Leave Pag	T COLIDOR (CTOLE)	
DESCRIP	THE RESERVE OF CHEST PARTY OF	☑ Base Bid or □		E COURSE (STONE)	UNIT PRICE EXTENSION (Quantity times Unit Price)
HEALISTERS OF HOUSE STRUCK	NO.	QUANTITY;	UNIT OF MEASURE:	UNIT PRICE	291,513,20
302-01-0	00400	3,835.7	CUBIC YARD	76.00	291,010,00
DESCRIPT	ΠΟΝ:	☑ Base Bid or □	Alt.# AGGREGATE	SURFACE COURSE (AD	DJUSTED VEHICULAR MEASUREMENT)
The state of the s	NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
401-02-0	BUT STANCES STORY OF THE STANCES	25	CUBIC YARD	16.00	1,900.00
THE STREET WAS A SHARE THE STREET	HING CARREST TEXASTRAL				
DESCRIPT	ent transfer of the second	☑ Base Bid or ☐		ASPHALTIC CONCRETE	
REF.	COMMUNICATION OF THE	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
502-01-0	00100	5,875.0	TON	90.00	528,750.00
DESCRIPT	EION: I	☑ Base Bid or □	Alt.# CROSS DRAIN	N PIPE ARCH (36" EQUIV	/ RCPA)
REF, I	PROPERTY OF STREET	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701-02-0	Charles a virtual a subdistability of the	24	LINEAR FOOT	108.00	2.592.00
				, , , , , , , ,	

## 

DECCRIPTION		A14 CIDE DRAIN!	PIPE (30" RCP)	
DESCRIPTION:	☑ Base Bid or ☐ QUANTITY:	UNIT OF MEASURE:		UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO.	QUANTITY:	LINEAR FOOT	87.00	1096-00
701-05-01080	8	LINEAR FOOT	0/100	1674-00
DESCRIPTION:	☑ Base Bid or □	Alt.# CATCH BASI	NS (CB-02)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702-03-00200	1	EACH	14,000,00	14.000.00
		L	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
DESCRIPTION:	☑ Base Bid or ☐		SAFETY END (TYPE 2)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	2014 A 3 (A 1 A 2 A 2 A 2 A 2 A 2 A 2 A 2 A 2 A 2	
702-08-00200	1	EACH	5,000.00	5,000.00
			•	
DECORPORT ON		A14 CLIADD DAIL	(SINGLE THRIE BEAM)	(6' 3" POST SPACING)
DESCRIPTION:	☑ Base Bid or ☐	UNIT OF MEASURE:	UNIT PRICE	THE CONTROL OF THE PART PRODUCTION OF THE CONTROL O
REF. NO.	QUANTITY: 150	LINEAR FOOT	30.00	4500.00
704-01-01020	150	LINEAR FOOT	00.00	7,000.00
DESCRIPTION:	☑ Base Bid or □	Alt.# GUARD RAIL	TRANSITIONS (DOUBL	E THRIE BEAM)
REF. NO.	QUANTITY:			UNIT PRICE EXTENSION (Quantity times Unit Price)
704-08-00200	50	LINEAR FOOT	70.00	3,500.00
<u> </u>				
DESCRIPTION:	Base Bid or □	Alt.# GUARD RAIL	END TREATMENT (FLA	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	The state of the s	AND DESCRIPTION OF THE PROPERTY OF THE PROPERT
704-11-00105	2	EACH	3,000.00	6,000-00
				•
PECCHIPTION	⊠ D D:4 □	A1+ # COMPINATIO	ON CONCRETE CURB AN	JD GUTTER
DESCRIPTION:	☑ Base Bid or ☐			UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO.	QUANTITY: 27	LINEAR FOOT	56.00	15/2 AT2
707-03-00100	21	LINEAR FOOT	00.00	1,010.00
DESCRIPTION:	☑ Base Bid or □	Alt.# TEMPORARY	SIGNS AND BARRICAD	DES
REF NO	OUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
713-01-00100	1	LUMP SUM	48,557.53	48,557.53
			,	
DESCRIPTION:	⊠ Base Bid or □	Alt.# TEMPORARY		S (SOLID LINE) (4" WIDTH) (TYPE 1 REMOVABLE)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
713-04-01020	3.0	MILE	150.00	450.00
WANTED THE RESIDENCE FOR PROPERTY WHEN THE PROPERTY OF STATES	г <u>—</u> — — —	p=================================	MEDIAL (OTO) TE	
DESCRIPTION:	☐ Base Bid or ☐ ☐		TERIAL (STONE)	INIT PRICE EXTENSION (O
REF, NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)

102.00

726-01-00100

CUBIC YARD

# LOUISIANA UNIFORM PUBLIC WORK BID FORM UNIT PRICE FORM

DESCRIPTION:	☑ Base Bid or □	Alt.# MOBILIZATIO	ON	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
727-01-00100	1	LUMP SUM	154,000.00	154,000.00
				,
DESCRIPTION:	☑ Base Bid or ☐	THE PROPERTY OF MAKES AND SECURITIES AND PROPERTY OF THE PROPE	A) (FURNISH AND INSTA	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
729-01-00102	313	SQUARE FOOT	25,00	7,825,00
DESCRIPTION	⊠ Base Bid or □	Alt # MOUNTING (	3-1/2" SIGN POST)	
DESCRIPTION:	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO.	17	EACH	1.150.00	19,550.00
729-08-00200	17	EACH	1,100.00	1,000.00
DESCRIPTION:	☑ Base Bid or □	Alt.# DEAD END RO	OAD INSTALLATIONS (	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
729-19-00300	1.0	EACH	1,000-00	1,000.00
DESCRIPTION:	☑ Base Bid or ☐	Alt.# SQUARE TUB	ING POST WITH 2-1/4"	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	
729-22-00100	12	EACH	140.00	1,680.00
EDICTOR OF SERVICE AND STREET THE PROPERTY OF SERVICE AND SERVICE		THE PROPERTY OF THE PROPERTY O	GED DATE DATE OF	TEMARKERS
DESCRIPTION:	■ Base Bid or □	THE RESIDENCE OF THE PROPERTY	ZED RAISED PAVEMEN	UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	SHIP SOME CALLS A DODGE WAS A DAME OF A SHIP SHAPE OF A SHIP S	1,200.00
731-02-00100	120	EACH	10.00	1,000.00
DESCRIPTION:	⊠ Base Bid or □	Alt.# PLASTIC PAV	EMENT STRIPING (SOL	JID LINE) (4" WIDTH) (THERMOPLASITC 90 MIL)
REF, NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732-02-02000	1.1	MILE	5,000.00	5,500.00
732 02 02000			Sport of	
		·		
DESCRIPTION:	☑ Base Bid or □	Alt.# PLASTIC PAV	EMENT STRIPING (SOL	LID LINE) (8" WIDTH) (THERMOPLASITC 90 MIL)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732-02-02040	0.2	MILE	15,000.00	3,000.00
				•
DATE OF THE PROPERTY OF THE PR				ID I DUE (A42 DUDTH) (THED AODI A CITO OO MIL)
DESCRIPTION:	☑ Base Bid or □	THE PARTY AND ADDRESS OF THE PARTY OF THE PA		JD LINE) (24" WIDTH) (THERMOPLASITC 90 MIL)
REF., NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732-02-02080	0.1	MILE	10,010.00	7,500.00

DESCRIPTION:	⊠ Base Bid or □	Alt.# PLASTIC PA	VEMENT STRIPING (BRO	KEN LINE) (4" WIDTH) (THERMOPLASITC 90 MIL)	0.04000-009-4-2-12
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price	re)
732-03-02000	0.3	MILE	1,500.00	450.00	<u> </u>

# LOUISIANA UNIFORM PUBLIC WORK BID FORM UNIT PRICE FORM

TARREST AND ADVISORS OF WHATEVER AND ADVISORS OF THE PARTY.	9			APPENDATE AND DEDIGEALLY
DESCRIPTION:	☑ Base Bid or ☐	The second secon	A CONTRACTOR OF THE PROPERTY O	45FT) (REMOVE AND REINSTALL)
REF: NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
736-04-04160	1	EACH	4,600.00	4,400.00
DESCRIPTION.	⊠ Base Bid or □	A1+# SIGNAL DOLE	E (DIIAI MAST ARM 45	FT-ARM 1, 40FT-ARM 2) (REMOVE AND REINSTALL)
DESCRIPTION:		UNIT OF MEASURE:	UNIT PRICE	THE RESERVE OF THE PROPERTY OF
REF NO.	Control of the Contro	EACH	(0.900.00	6,900.00
736-04-05012	1	EACH	0,700.00	4,900
DESCRIPTION:	☑ Base Bid or □	Alt.# SIGNAL SUPP	PORT (FOUNDATION, 36	S INCH MINIMUM DIAMETER)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
736-14-00101	2	EACH	7,100.00	14,200.00
	<u> </u>	<u> </u>		· · · · · · · · · · · · · · · · · · ·
TOP TOP TO THE PARTY OF THE PAR				
DESCRIPTION:	☑ Base Bid or □	The second secon		TARREDUCE DVEELETON (O. 1971)
REF, NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
739-01-00100	3.00	ACRE	6,000.00	18,000.00
DESCRIPTION:	☑ Base Bid or □	Alt.# CONSTRUCT	ION LAYOUT	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
740-01-00100	QUANTITI:	LUMP SUM	25,000-00	25.077.00
740-01-00100	1	LOWI DOW	00,000-00	00,000
DESCRIPTION:	☑ Base Bid or ☐	Alt.# STEEL SHEET	Γ PILE WALL	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
803-03-00100	3,247	SQUARE FOOT	40.00	129,880.00
Depotes a consumeration of the book factors and the book of the second	1	TO THE PART OF THE	WED DITES (COASTAL	TREATMENT) (0.8 CCA)
DESCRIPTION:	■ Base Bid or □		UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	20-00	35,200.00
804-02-00200	1,760	LINEAR FOOT	80-00	20,000.00
DESCRIPTION:	☑ Base Bid or □	Alt.# CLASS AA CC	ONCRETE	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
805-03-00100	124	CUBIC YARD	450.00	56,800.00
			· · · · · · · · · · · · · · · · · · ·	
DESCRIPTION:	図 Base Bid or □	THE REPORT OF THE PROPERTY OF	REINFORCING STEEL	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
806-01-00100	9,775	POUND	1.00	9,775.00
DESCRIPTION:	■ Base Bid or ■	Alt.# GEOGRID		
	I Dase Big of U	MIL# DECOME	a contract of the contract of	The state of the s
CONSTRUCT SAME OF THE PROPERTY	OULANTETEV.	LINIT OF MEASURE	INIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO. NS-300-00060	QUANTITY:    3,542	UNIT OF MEASURE: SQUARE YARD	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)

# LOUISIANA UNIFORM PUBLIC WORK BID FORM <u>UNIT PRICE FORM</u>

DESCRIPTION:	⊠ Base Bid or □	Alt.# MILLING ASI	PHALT PAVEMENT	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
NS-509-01000	1,504	SQUARE YARD	4.00	6,016.00

DESCRIPTION:	⊠ Base Bid or □	Alt.# RUMBLE S	STRIPS (CENTERLINE GROU	ND-IN)	
REF, NO.	QUANTITY:	UNIT OF MEASURE	E: UNIT PRICE	UNIT PRICE EXTENSION (Quantity	times Unit Price)
NS-724-00001	0.2	MILE	525.00	105.00	

DESCRIPTION:	⊠ Base Bid or □	Alt.# RUMBLE STR	IPS (SHOULDER GROUN	ND-IN)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
NS-724-00002	0.8	MILE	535.00	420.00

DESCRIPTION;	☐ Base Bid or ☐	Alt.# RUMBLE STI	RIPS (INTERSECTION GF	ROUND-IN)
REF, NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
NS-724-00003	3	EACH	4,000.00	12,000.00

DESCRIPTION:	☑ Base Bid or □	Alt.# STACKABLE	FLOOD BARRIER	A CONTRACTOR OF THE CONTRACTOR
REF, NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-001	1	LUMP SUM	66,000.00	66,000.00

All quantities are estimated. The contractor will be paid based upon actual quantities as verified by the Owner.

### RESOLUTION

BE IT RESOLVED by the Board of Directors of HUEY P. STOCKSTILL, LLC., a Limited
Liability Company organized and existing under the laws of the State of MISSISSIPPI, and
domiciled in the City of PICAYUNE, that CINDY COLE, SECRETARY of the LLC and/or
HUEY STOCKSTILL, JR, PRESIDENT of the LLC and/or HUEY STOCKSTILL, III,

OPERATIONS MANAGER of the LLC and/or CHARLES WALE, GENERAL MANAGER
of the LLC and are hereby authorized and empowered to propose pricing and execute any and all
contracts of whatever kind on behalf of the LLC with the South Lafourche Levee District and to
do all things necessary in the premises.

## **CERTIFICATE**

I, <u>CINDY COLE</u>, Secretary of <u>HUEY P. STOCKSTILL</u>, <u>LLC.</u>, do hereby certify that the foregoing resolution is a true and exact copy unanimously adopted by the Board of Directors of said LLC at a meeting thereof legally held on the <u>16th</u> <u>day of March</u>, <u>2017</u> that said resolution is duly entered into the records of said LLC; that it has not been rescinded or modified; and that it is now in full force and effect.

IN TESTIMONY WHEREOF, I have hereunto set my hand and the seal of said LLC this the <u>16th</u> day of <u>March</u>, 2017.

Cindy Cole, Secretary



State Aicensing Anard for Contractors

This is to Certify that:

HUEY P. STOCKSTILL, LLC P. O. Box 758 Picayune, MS 39466 is duly licensed and entitled to practice the following classifications

HIGHWAY, STREET AND BRIDGE CONSTRUCTION



Expiration Date: August 20, 2018

License No: 62139

Witness our hand and seal of the Board dated, Baton Rouge, LA 21st day of August 2016

Director

Chairman Chairman

Treasurer

This License Is Not Transferrable

# BID BOND

Huey P. Stockstill, LLC as Principal (Bidder) and	
Hartford Accident and Indemnity Companies Surety, are bound unto the	у
South Lafourche Levee District	
(hereinafter called "Owner") in the sum of Five	Percent of Bid Amount
	DOLLARS (\$)
for payment of which the Principal and Surety bind assigns, jointly and severally.	themselves, their heirs, executors, administrators, successors and
Signed and sealed this 16th day of Ma	arch, 20 <u>17</u> .
construction of <u>Interim Improvements - Elevation or</u> contract is awarded to the Principal and the Principal	s the Principal has submitted a bid to the Owner on a contract for the <u>fLA Hwy. 3235 at Levee Crossing in Larose, LA</u> . If the said I, within the specified time, enters into the contract in writing and g Agency for performance of said contract, this obligation shall be
Huey P. Stockstill, LLC	Hartford Accident and Indemnity Company
Principal (Bidder)  BY Authorized Officer-Owner Partner	BY Agent or Attorney-in-Fact
HuEY Stockstill, JR.	Angie M. Strickland, Attorney in Fact
Typed or Printed Name	Typed or Printed Name

# **POWER OF ATTORNEY**

Direct Inquiries/Claims to:

THE HARTFORD

BOND, T-12

One Hartford Plaza

Hartford, Connecticut 06155

Bond.Claims@thehartford.com

call: 888-266-3488 or fax: 860-757-5835

Agency Name: ALLIANT INSURANCE SERVICES INC

KNOW ALL	PERSONS BY THESE PRESENTS THAT:  Agency Code: 43-230340
Х	Hartford Fire Insurance Company, a corporation duly organized under the laws of the State of Connecticut
X	Hartford Casualty Insurance Company, a corporation duly organized under the laws of the State of Indiana
Х	Hartford Accident and Indemnity Company, a corporation duly organized under the laws of the State of Connecticut
	Hartford Underwriters Insurance Company, a corporation duly organized under the laws of the State of Connecticut
	Twin City Fire Insurance Company, a corporation duly organized under the laws of the State of Indiana
	Hartford Insurance Company of Illinois, a corporation duly organized under the laws of the State of Illinois
	Hartford Insurance Company of the Midwest, a corporation duly organized under the laws of the State of Indiana
	Hartford Insurance Company of the Southeast, a corporation duly organized under the laws of the State of Florida

having their home office in Hartford, Connecticut, (hereinafter collectively referred to as the "Companies") do hereby make, constitute and appoint, up to the amount of Unlimited:

John A. Chalk Jr., William L. Painter, Angie M. Strickland of JACKSON, Mississippi

their true and lawful Attorney(s)-in-Fact, each in their separate capacity if more than one is named above, to sign its name as surety(ies) only as delineated above by  $\boxtimes$ , and to execute, seal and acknowledge any and all bonds, undertakings, contracts and other written instruments in the nature thereof, on behalf of the Companies in their business of guaranteeing the fidelity of persons, guaranteeing the performance of contracts and executing or guaranteeing bonds and undertakings required or permitted in any actions or proceedings allowed by law.

In Witness Whereof, and as authorized by a Resolution of the Board of Directors of the Companies on May 6, 2015 the Companies have caused these presents to be signed by its Senior Vice President and its corporate seals to be hereto affixed, duly attested by its Assistant Secretary. Further, pursuant to Resolution of the Board of Directors of the Companies, the Companies hereby unambiguously affirm that they are and will be bound by any mechanically applied signatures applied to this Power of Attorney.



John Gray, Assistant Secretary

M. Ross Fisher, Senior Vice President

STATE OF CONNECTICUT

COUNTY OF HARTFORD

Hartford

On this 11th day of January, 2016, before me personally came M. Ross Fisher, to me known, who being by me duly sworn, did depose and say: that he resides in the County of Hartford, State of Connecticut; that he is the Senior Vice President of the Companies, the corporations described in and which executed the above instrument; that he knows the seals of the said corporations; that the seals affixed to the said instrument are such corporate seals; that they were so affixed by authority of the Boards of Directors of said corporations and that he signed his name thereto by like authority.

Nora M. Stránko
Notāry Public
CERTIFICATE My Commission Expires March 31, 2018

I, the undersigned, Assistant Vice President of the Companies, DO HEREBY CERTIFY that the above and foregoing is a true and correct copy of the Power of Attorney executed by said Companies, which is still in full force effective as of March 16, 2017 Signed and sealed at the City of Hartford.





Jann Allen